Rang Nr.
1. 1
2. 4
3. 10
4. 8
5. 5
6. 3
7. 6
8. 7
9. 2

Paarturnier - Luzern - 29.07.2024

Ergebnis (50 % =72.0 MP)

Paar
Kleinschmidt, Michael — Wehrli-Wyss, Cristine
Gisler, Meggi — Wiist, Annamarie
Schipper, Isaak — Wespi, Marlise
Kuhn, Monica — Tschopp, Denise
Hofer, Fritz — Biitler, Adelbert
Beylemans, Rita— Roth, Rita
Vital, Theres — Furrer, Ursula
Walter, Marlise — Zingg, Erika
Bernhardtz, Claes-Goran — Egli, Willi

Turnierleitung: Isaak

MP
88.0
85.0
83.0
78.0
77.0
71.0
62.0
55.0
49.0

%
61.11
59.03
57.64
54.17
53.47
49.31
43.06
38.19
34.03

PV



Name des Vereins:

Abrechnung vom Zeitraum
01.07.2024 - 30.06.2025
Lfd. Nr. FSB Name Vorname PV

1 185 | Bendel Beatrice 9
2 4172 | Beylemans Rita 15
3 3751 | Bilar Pedro 19
4 8706 | Bretscher Hedi 5
5 3373 || Briner Maya 5
6 3488 || Filali Renata 13
7 4231 | Fischer Verena 2
8 5557 | Gisler Meggi 16
9 8894 | Hess Rita 8

10 7750 | Kéllstrom Curt 54

11 6516 | Kleinschmidt Michael 22

12 9154 | Kopainsky Stefan 11

13 9155 | Lanicca Christoph 11

14 1895 | Nadrai Marie-Antoinette 23

15 4090 | Paulon Marianne 2

16 9083 | Rubeli Gabriela 17

17 9335 | Schipper Isaak 11

18 6775 | Schoahs Grazyna 31

19 10123 | Schonenberger Nada 20

20 5012 | Smith Craig 25

21 3874 | Stalder André 8

22 2456 | Steiner Peter 2

23 8897 | Tschopp Denise 8

24 10108 | Vital Theres 5

25 3753 | Wilti Vreni 5

26 5540 | Wehrli-Wyss Cristine 25

27 6939 | Wespi Marlise 3

28 2784 | Winter Vreni 9

29 5458 | Wiist Annamarie 12

30

31

32

33

34

35

36

37

38

39

40




1 K984
Nord /- v 1086
+ 87
« A1085
+ 103 N & ADG2
v AKD743 v 5
+ B1053 1 + AK62
B « KD97
+ B75 *4vaSA
v B92 N-----
¢ Do4 3 45646
O/W 6SA= 6432 W4564 6
3 « B10
Sid / OW v K54
+ K95
« AB764
« AK64 & D852
v 83 v DB106
+ B632 + 874
» D52 * K3
4 973 *4vaSA
v A972 N312-2
snD10 33711772
N/S 1SA+1 #1098 Wo——1 -
5 + AK1053
Nord /NS v B7
+ 10862
* 106
+« DB6 £
v AD654 v K102
+ D93 ¢ 754
* 94 % KDB8732
& 98742 »4vaSA
v 983 N-1-32
+ AKB S50 ?
O/W 4« = « A5 W4-2- -
7 « 107
Std / alle v DB10542
+A
« AKD6
+ K54 + DB93
v 863 v 9
+ K105 7 4 97632
» 9874 % 1052
4 A862 *4vaSA
v AK7 N62736
comes 3730
N/S 7v = « B3 We e - —
9 s K
Nord/OW v AD2
+ K843
« AKD94
« AB10876 & D542
v 986 v K7543
+ B975 + D
* * 876
493 £+ VaSA
v B10 N43--1
ent062 3430t
N/S 5# X -1 & B10532 W--24 -
11 « D94
Sud /- v AK108
+ AB52
« A10
« A10762 & 853
v 753 1 v D
+ K987 + D103
a4 S la KB8653
+ KB £+ VaSA
v B9642 N114-3
e LA
N/S 4v = « D972 Wo - —

MP NS  Kontraki  Aussp.
1.0 7 O 6SA = &5
50 6 W 4¥ +1 48
50 10 W 4v +1 ¥8
1.0 4 O 6SA = ¢4
MP NS Kontrakt Aussp.
0.0 7 S 2SA -1 &A
40 6 S 2v = £\
6.0 10 N 1SA +2 ¥D
20 4 Pass
MP NS  Kontrakt  Aussp.
20 5 O 3% +1 <A
0.0 8 O 3% +2 <A
40 1 S 44 -1 %9
6.0 7 O 5% -1 <A
MP NS  Kontrakt  Aussp.
40 10 S 6¥ = &8
40 6 S 6¥Y = 45
00 2 N 4¥ +2 &D
40 8 S 6¥ = &9
MP NS Kontrakt Aussp.
2.0 10 S 5¢ -2  &p
60 6 N 5% = v3
0.0 2 S 3SA -3 &A
40 8 N 5% -1 4D
MP NS  Kontraki  Aussp.
4.0 10 N 4y = 43
00 7 N 2v = ¥D
40 1 N 4y = 48
40 3 N 4y = 43

Paarturnier - Luzern - 29.07.2024

Ergebnis ~ OW  MP
990 3 5.0
450 5 1.0
450 8 1.0
990 1 5.0
Ergebnis ~ OW MP
50 3 6.0
110 5 20
150 8 0.0
Pass Pass 1 4.0
Ergebnis ~ OW MP
130 2 4.0
150 4 6.0
100 3 2.0
50 6 0.0
Ergebnis ~ OW MP
1430 1 20
1430 3 20
680 4 6.0
1430 7 20
Ergebnis ~ OW MP
100 1 4.0
400 3 00
150 4 6.0
50 7 20
Ergebnis ~ OW MP
420 2 20
110 4 6.0
420 6 2.0
420 5 20

2 -
Ost/NS v 105
+ KD932
# KB7532
« KD98 & A10542
v K3 v AD64
+ AB84 + 76
» 864 & A9
4 B763 £+ VaSA
v B9872 N2--- -
¢ 105 3 2 2244
O/W 3SA+1 & D10 W-234 4
4 « 108
West/alle v 83
+ 8765
# AKD72
« AD6 & K42
v KD10642 v B97
+ A9 + B42
» 85 « B1096
4 B9753 £+ VaSA
v A5 N23-1-
skD103  $2%71-
O/W 3v = 43 W--3— —
6 & 8642
Ost/OW v B1075
+ B8
& A92
« AD10 . « B753
v 432 6 v A98
+ A1075 I + D32
» KB10 * D86
4 K9 &0 9vaSA
v KD6
+ K964
O/W 1SA+1 & 7543
8 « B942
West /- v 10654
+ B9
* 84
+ AK108 + D76
YA w8 v K7
+ AK43 + D105
* K653 & AD972
453 A4 VaSA
vDB9832 N---- -
$7TR 577557
O/W7SA= «B10 W77367
10 « D742
Ost/ alle v6
+ B42
« K10932
« AB & 86
v B982 v A10543
+ AK865 0 ¢ 73
« DB * A876
2 K10953 a4 vaSA
v KD7 N---- -
I SETEP
O/W 4v +1 & 54 W1351 2
12 & A942
West /NS v A85
+ 10
# 87532
+ B853 & K
v K10973 v 42
+ 862 + AK943
*9 « KDB106
4 D1076 £+ VaSA
v DB6 N1--2-
eDB75 31772 C
N/S 24 = & A4 W-11- -

MP NS Kontrakt
20 7 0O 4e =
20 6 O 44 =
2.0 10 O 44 =
60 4 O 64 -2
MP NS Kontrakt
30 5 w4y -1
30 8 w 4y -1
30 1 w 4y -1
30 7 w4y -1
MP NS Kontrakt
60 5 w 1sa -1
30 8 0 24 =
00 1 O 24 +1
30 7 0 24 =
MP NS Kontrakt
30 10 W 6SA +1
30 6 O 6SA +1
30 2 W 6SA +1
30 8 W 6SA +1
MP NS  Kontrakt
50 10 W 2v +2
20 7 0O 3v +2
50 1 W 2v +2
00 3 0 4v =
MP NS Kontrakt
4.0 10 O 2¢ =
00 7 0 2¢ +2
6.0 N 24 +1
20 3 0 3¢ =

Aussp.
410
%D
v9
410

Aussp.
A
SA
A
A

Aussp.
&2
46
YK

&3

Aussp.

Aussp.
a2
49

410

Aussp.
¥D
46
¢A
410

Ergebnis

100

420
420
420

Ergebnis

100
100
100
100

Ergebnis

100

110
140
110

Ergebnis

1020
1020
1020
1020

Ergebnis

170
200
170
620

Ergebnis

140

90
130

110

ow

ow

A W AN

MP
4.0
4.0
4.0
0.0

MP
3.0
3.0
3.0
3.0

MP
0.0
3.0
6.0
3.0

oW  MP

N R W -

ow

N N BN

ow

N N AN

3.0
3.0
3.0
3.0

MP
1.0
4.0
1.0
6.0

MP
2.0
6.0
0.0
4.0



13 2985
Nord / alle v DB1092
+8
» DB43
» AD107 » KB632
v 43 v7
+ K1076 + DB942
* K106 * A9
44 #49aSA
v AK865 N2-3- -
A R
O/W3a= #8752 W-4-31
15 » 962
Sid/NS v DB62
+ 852
» 1092
2 B43 » AKD108
v 87543 v
+ AKDB7 + 943
- » 86543
475 *4vaSA
v AK109 N ---- -
+ 106 S Telel
O/W6s=  &#AKDB7 w-6-6-
17 » AB97
Nord /- v 8542
+ K65
*92
» D863 N |4 54
v B3 v K10
+ ADB104 17|, er3
* 104 » KB8653
4 K102 £ 4 vaSA
v AD976 N2266 6
o sEzeee
N/S6SA= & AD7 Wo-—- -
19 .6
Sid/OW v AKD32
+ D842
2763
» AKB7 [ » D8542
v B95 10 WY 1074
+ K106 I + B53
* A104 S Ml By
4 1093 £4VaSA
v 86 N323- -
+ A97 $%2%.-
N/S2v+1  #KD82  w-__1 -
21 » D10652
Nord /NS v KB942
+ 102
*6
s 87 s AQ43
v AD8 v 103
+ AB53 v 94
* AB52 * D10943
+ KB 249aSA
v 765 N--2--
+kDBS7  $.°%7 7
O/W 3% +1 & K87 W4--12
23 » BO764
sud/alle v 53
+ 10972
* D2
2532 s 8
v D10982 23 WY <764
+ 63 + AD85
»B93 a A1086
» AKD10 20vasA
v AB N-2-41
+ KB4 s34
O/W v X-2 & K754 Wi-3- -

MP NS  Kontrakt
20 4 O 44 +1
20 10 O 44 +1
20 8 O 44 +1
60 2 O 34 +2
MP NS Kontrakt
60 4 O 34 +1
20 10 O 34 +3
40 8 0O 34 +2
00 2 s 1sAa -3
MP NS Kontrakt
20 5 s 4v =
40 2 s 4%y +1
6.0 10 s 4v +2
00 3 s 4y -1
MP NS Kontrakt
30 6 W 24 -1
60 3 W 1sa -2
0.0 10 N 3¢ -1
30 1 O 34 -1
MP NS  Kontrakt
20 6 W 1sA =
50 3 N 2v +1
00 10 N 2v -1
50 1 N 2v +1
MP NS Kontrakt
50 4 s 44 =
50 10 S 44 =
20 2 s 2sA +1
00 5 s 34 -1

Aussp.
vA
YA
vA
YA

Aussp.
SA
YA
SA
¢A

Aussp.
¢A
&10
¢A
10

Aussp.
YA
YA
45
v8

Aussp.
410
9

10
10

Aussp.
v1l0
v2

v10

&3

Ergebnis

650
650
650
200

Ergebnis

170
230
200
300

Ergebnis

420
450
480

50

Ergebnis

100
200

100

50

Ergebnis

140

140

90

100

Ergebnis

620
620
150

100

ow

ow

- |

ow

N 0 N

ow

N N

ow

- & W

MP
4.0
4.0
4.0
0.0

MP
0.0
4.0
2.0
6.0

MP
4.0
2.0
0.0
6.0

MP
3.0
0.0
6.0
3.0

MP
4.0
1.0
6.0
1.0

MP
1.0
1.0
4.0
6.0

14 &« 1042
Ost/- v B5
+ D10752
& KB2
« KDB9 & A
v K2 v AD98
+ K63 14 o + 984
& A1085 & 97643
4 87653 #49aSA
v 107643 N-—--- -
¢+ AB 34 1433
OWd4y= 4D W41433
16 « D8753
West/OW v D108
+ K85
85
s A & K4
v B5 v AK6432
+ B732 ¢ 94
& KDB1073 & AG4
2 B10962  a4vaSA
v 97 N---1-
+AD106  357.'a
O/W 4SA= 92 W514— 4
18 & AK73
Ost/NS v3
+ AD97
» 10642
4 982 « D104
v B7 v D1096542
+ B632 + 10
» KB53 * AD
+ B6S £ 4 vaSA
v AK8 N23-33
e Kesa 323799
O/W 4y X -2 & 987 W--2- —
20 & B742
West/alle v 76532
+ K86
&7
+ 103 & AKB5
v B10 v AK8
+ 97432 + B
» B542 * K10983
+ D98 A4 VaSA
v D94 N-111-
+AD105 SO
O/W 24 = « AD6 W2 - —— —
22 475
Ost/OW v AB875
+ D109
& A76
« D106 . + BO84
v 96 v KD10
+ 852 I22 + AK3
& KD1094 & B83
& AK32 249aSA
v 432 N-12- -
+ B764 S T
N2v = * 52 w2--11
24 « AB102
West /- v 9732
+ 93
& KB2
+ KD94 s 753
v D4 v 85
+ 762 w24 + ADB85
& 10743 & A85
+ 86 249aSA
v AKB106 N21422
Ckios 521422
N/S 4v = « D96 Wem—— —

MP NS
00 4
4.0 10
40 8
4.0 2

MP
40 5
00 2
6.0 10
20 3

NS

MP
3.0
6.0
0.0 10
30 3

NS

Vi
0.0
2.0
4.0 10
6.0 1

NS

MP
20 4
6.0
00 2
40 5

MP
50 4
5.0 10
1.0 2
1.0 5

NS

Kontrakt
W 3SA +1
W 3SA =
W 3SA =
W 3SA =

Kontrakt
o 3v
O 4y +1
O 5y -1
O 4y =

+1

Kontrakt
3v -1
3¥ X
29 =
3v -1

-1

o O O O

Kontrakt
3v
3%
29 =

29y +1

X -2
+1

n n O wn

Kontrakt
O 24 +1
N 2v =
O 35A =
O 3% -1

Kontrakt
S 29 +2
S 29 +2
S 3¥y =
S 3¥y =

Aussp.

5
*2
5
€2

Aussp.
¢A
4B
4B
4B

Aussp.

+4
YA
44
46

Aussp.

&B
v4
&2

&B

Aussp.
&5
¢A
A4
L 72N

Aussp.
%6
oK
%6
%6

Ergebnis

430
400
400
400

Ergebnis

100

170
650

620

Ergebnis

50
100

50

110

Ergebnis

110
140

500
130

Ergebnis

110

100

140

600

Ergebnis

170
170
140
140

ow
6

ow

0 A =

® A =

ow

N 0 N

ow

-0 AN W

ow

- N W

MP
6.0
2.0
2.0
2.0

MP
2.0
6.0
0.0
4.0

MmP
3.0
0.0
6.0
3.0

MmP
6.0
4.0
2.0
0.0

MP
4.0
0.0
6.0
2.0

MP
1.0
1.0
5.0
5.0



25 « 8764
Nord/OW v D9764
+ A754
-
« K102 « AB9
v B2 v A1083
¢+ D2 + B9863
# D107654 * B
« D53 &4 VaSA
v K5 N-----
+ K10 12 13
O/W 1SA+1 & AK9832 w12-1 2
27 & 9632
Sud /- v K1072
7
« D952
4 85 & AKB107
v DB986 27 v5
+ AK32 + 10964
a73 S la Ak4
« D4 *4VaSA
v A43 N--o - -
+DBSS 510345
O/W 4a = « B1086 W14343

MP
0.0
4.0
4.0
4.0

MP
0.0
2.0
4.0
6.0

NS

10

NS

10

Kontrakt
S 3% -3
S 2& -2
S 2% -2
S 2& -2
Kontrakt
O 35A +2
O 44 =
O 24 +1
O 24 =

Aussp.
a2
4D

Aussp.

45
YA
&B

4D

Ergebnis
150
100
100
100

Ergebnis
460
420
140
110

ow

ow

[

MP
6.0
2.0
2.0
2.0

MP
6.0
4.0
2.0
0.0

26
Ost/ alle

« AKD3
v D73
+ KB
» K642

O/W 14 +3

& 9752
v K1082
+ A43
93

26 &

« 864
v B964
+ D2
« AD85

+ B10

v A5

+ 1098765
* B107

*4VaSA

034-22
W34-22

MP
5.0
5.0
0.0
2.0

NS

10

Kontrakt
W 3S5A -1
W 3sA -1
W 2SA +1
W 2SA =

Aussp.
v2
v2
v2
42

Ergebnis

100
100

150
120

ow  MP
1 1.0
4 1.0
7 6.0
2 4.0



	2024-07-29-Hände
	2024-07-29-Resultate
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